Quiz for chapter 1
QUIZ - Any 10 autogenerated out of the listed 15 questions; correct answers highlighted in yellow; Passing criteria: 80%. 
1. Industrialization is the engine of economic growth:
a) True
b) False
2. Manufacturing displays higher productivity owing to: 
a) Economies of scale
b) Linkages with other sectors
c) Source of innovation and technological advancements
d) All of the above
3. Externalities of industrialization can emerge from:
a) Firms’ operations
b) Consumption/usage of industrial products
c) Both a) and b)
d) Neither a) nor b)
4. The 2030 agenda for sustainable development consists of:
a) 17 Sustainable Development Goals (SDGs)
b) 15 Sustainable Development Goals (SDGs)
c) 9 Sustainable Development Goals (SDGs)
d) 25 Sustainable Development Goals (SDGs)
5. SDG 9 is related to:
a) Infrastructure, industry and innovation
b) Zero hunger
c) Quality education
d) Climate action
6. SDG 9 is linked to other SDGs:
a) True 
b) False
7. Challenges for industrialization, such as limited availability of raw materials or skilled workforce are an issue for firms because they result in:
a) Higher costs
b) Lower margins
c) Lost business opportunities
d) All of the above
8. Policy changes are an example of: 
a) Transitional risks
b) Physical risks
c) These are not risks
d) None of the above
9. ISID can help firms overcome transitional risks but not physical risks:
a) True
b) False – ISID is a strategy to tackle both types of risk
c) False – ISID is not useful for either type of risk
d) Can’t say
10. Inclusive and Sustainable Industrial Development (ISID) means: 
a) Manufacturing firms are able to access and effectively cater to demand from diverse markets.
b) Industrial activities are decoupled from excessive natural resource use and negative environmental impacts. 
c) Equal opportunities and an equitable distribution of the benefits of industrialization to all stakeholders.
d) The unique knowledge and resources of all relevant development actors are integrated.
e) All of the above
11. The three main dimensions of ISID are: 
a) Economic, environmental and social
b) Economic, technical and political
c) Environmental, social and equitable
d) None of the above
12. ISID can be fostered through:  
a) Only policy-level instruments by the government
b) Firm-level operational decisions, supported by enabling policies and driven by global level strategic direction
c) Only global level discourse
d) Only firm level actions
13. Actions for business growth and profitability are not a part of ISID’s principles: 
a) True – ISID is only about protecting the environment
b) True – ISID is only about employment generation
c) False – ISID means pursuing economic growth based on industrialization, whilst also safeguarding the environment and creating a diverse, productive workforce for value additon
d) Can’t say
14. The social dimension of ISID is not related to business profitability:
a) True
b) False – the social dimension of ISID focuses on maximising productive contributions and value addition in firms by women and men
c) Can’t say
15. The environmental dimension of ISID is related to:
a) Protecting the environment because environmental laws and regulations mandate it
b) Safeguarding the environment for business sustainability
c) Firms focusing only on business growth in the short run, but keeping track of the long term changes of climate change
d) None of the above

